(1 point)

Find the eigenvalues of A, given that A =

and its eigenvectors are

The eigenvalues are

and
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(1 pomt) Calculate det(A — ) for the fcllowmg matrices A and values of /\
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Determine if given A is an eig’e'n\‘f__alue' of the given matsix "A
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(1 point)
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Thematrix A =11-6 2

|-5-1-9]
has the A = —5 as an eigenvalue with multiplicity 2 and the A = 1 as an eigenvalue with multiplicity 1. Find the associated
eigenvectors. *
The eigenvalue —5 is associated with the eigenvector (. HEH
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The eigenvalue 1 is associated with the eigenvector ( ] HH - H
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(1 point) Find the eigenvalues and corresponding eigenveétors of the matrix
[—2 -6 -16] ‘ : g b,

A=1o 1 -2|
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The eigenvalue A\; = o : corresponds to the eigen#ector‘( :

The eigenvalue A2 = ‘ i corresponds to the eigenvector (
L EE ).

The eigenvalue A3 = . #  corresponds to the eigenvector (
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(1 point)
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has two distinct eigenvalues, Xy < Agi i lioiiillll
M . B . has multiploity ' 358 - . The dimension of the corresponding eigenspace is

22 has multiplicity ' 2 . The dimension of the corresponding eigenspace is

Is the matrix C' diagonalizable? (enter YES or NO) as
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Find P, D and P! such that A = PDP!,
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(1 point)
12-6

Let M =
12-6

Find formulas for the entries of M™, where 7 is a positive integer.
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You might consider diagonalization of matrix M = to ease the calculations.
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Find invertible matrix P and diagonal matrix D such that A = PDP—I:. P e
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Note: all answer blanks must be filled out



